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Single-grain density and bulk density of four varieties of grains are given in the table. If
we take 1 kg of each of these, which one will have the largest volume?

2 3
Grain Single-grain density (g/cm?) Bulk density (g/cm?)
Rice 1.13 0.56
Wheat  |1.39 0.80
Millet 1.27 0.77
Maize 0.97 0.68
1. Rice
2. Wheat
3. Millet
4. Maize

7720334461. 1

7720334462. 2

7720334463. 3

7720334464. 4
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gad 1.13 0.56
g 139 0.80

Gl 127 0.77
] 0.97 0.68

1. IMad

2.7

3. TR

4. DI

7720334461. 1

7720334462. 2

7720334463. 3

7720334464. 4
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sheets of 80 GSM and 70 GSM papers of size 20 cm x 30 cm? (GSM = g/m?)

1. 200
2. 2000
3. 300
4. 3000

7720334465. 1
7720334466. 2
7720334467. 3

7720334468. 4

&l Al & Uovel, o8 U@ H 80 GSM 3R 70 GSM @ 20 BT, x 30 H. 7L, @R &
500 @A &, & GoddHl 8 fda S @ 8) 8F?

(GSM = 1. /T )

1. 200
2. 2000
3. 300
4. 3000

7720334465. 1
7720334466. 2
7720334467. 3
7720334468. 4
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non-stop flights from Mumbai to Goa in the evening. In how many ways can one fly from

; l FirstRanker.com

Chennai to Goa via Mumbai using these flights in a day?

1.10
2.24
3,48
4. 64

7720334469. 1
7720334470. 2
7720334471. 3

7720334472. 4

A & 6 3MfdE ISH 993 ¥ Hag UId: ldl 6 SR 4 SHfaH IS Has 9 al
M & S 8 | o UeR § Ue aafdd 99s ° 4es aid gu a1 Us fad § 3sH
R g95dl 87

1. 10
2. 24
3. 4°
4. 64

77203344609. 1
7720334470. 2
7720334471. 3

7720334472. 4
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A pack contains 6 cards numbered 1, 2, 3, 4, 5 and 6. Four cards are drawn one by one at
random without replacement. What is the probability that the card numbered 1 is drawn
in the selected four cards?

mmad
o |

7720334473. 1
7720334474. 2
7720334475. 3

7720334476. 4
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7720334475. 3
7720334476. 4

The present age of a father is square of the age of his son. After six years, the age of the

father would be 3% times the age of the son. The present age of the father is

1.36
242
3. 48
4 54

7720334477. 1
7720334478. 2
7720334479. 3

7720334480. 4

O 1 gd9H g T &1 A &1 a4 61 B: 981 & IURI [Udl &1 Y §F DI Y
aﬁa%ﬂ:ﬁﬁ?ﬂﬁmaﬁwaﬂgW%?

1. 36
2. 42
3. 48
4. 54

7720334477. 1 www.FirstRanker.com
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7720334480. 4

In an exam the average marks for the class was 60, the average of marks of the students
who passed was 70 and those failed was 30. What is the percentage of the students of
the class who failed?

1. 25
2. 40
3. 60
4.75

7720334481. 1
7720334482. 2
7720334483. 3

7720334484. 4

! wiien | S & faaniial & sigd 3f@ 60 § | 35l g4 ard faanfial & siaa
3@ 70 TE <0l B arc faenfial & ofgd ofd 30 € | fva wfawa faem
SRl U

1. 25
2. 40
3. 60
4.75

www.FirstRanker.com
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7720334481. 1
7720334482. 2
7720334483. 3

7720334484. 4

A bug moves in a straight line from a point Ag to a point A7 1.cm away . It then turns
by an angle of 90° and moves straight another 1 cm to reach a point Az. Then it moves 1
cm perpendicular to the line joining A, to A; to a point Az . It continues this way as
shown, moving 1cm every time till it reaches a point Ays. What is the straight line
distance from A, to Axs?

1.3 cm
2.5 cm
3.5cm
4.16 cm

7720334485. 1
7720334486. 2

7720334487. 3 www.FirstRanker.com



:l » FirstRanker.com

A ' i
Hitsranker's choice www.FirstRanker.com www.FirstRanker.com
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7720334485. 1
7720334486. 2
7720334487.3

7720334488. 4
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paint only the tiles forming the border. What should be the dimension of the rectangular

orker is ask

pattern he arranges, in order to use the minimum amount of paint?

1. 50 tiles x 20 tiles
2. 8 tiles x 125 tiles
3. 200 tiles x 5 tiles
4. 40 tiles x 25 tiles

7720334489. 1
7720334490. 2
7720334491. 3

7720334492. 4

UH HHTRI B 1000 TG el5dl ®I T ATAPR U § HHGG BId Bhad [d-rN
B Cladl @ W & (078 Hol 74T | BH T BH F BT IUAAT B & ol A
U @1 uREm {1 g1 9nfee?

1. 50 TRd x 20 TR
2. 8TRd x 125 TRd
3. 200 TRd x 5 T5d
4, 40 TR x 25 TR

7720334489. 1
7720334490. 2
7720334491. 3
7720334492. 4
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There are 150 vehicles in a parking place. Each vehicle is either a bike or a car, and is
either red or green. Sixty vehicles are red, and 100 vehicles are cars. If there are 20 green
bikes, how many red cars are there?

1.70
2. 30
3. 40
4.50

7720334493. 1
7720334494. 2
7720334495. 3

7720334496. 4

T UHGTRFA R 150616 | TP de 1 Ala dd e A OR &, AR A A e A8l &
| 18 9168 T1dl &, AR 100 eI PR & | IfG 20 SN TP & dl ol &R a1 87

1. 70
2. 30
3. 40
4.50

7720334493. 1
7720334494. 2
7720334495. 3

7720334496. 4
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Which one of the following graphs represents the cumulative area under the plot

shown?

Cumulative area
P

Cumulative area
I

O 1 2
A
2.
4
o
s
m 3
@
=
o
=
= 1
==y
= o
3.
4
0
s
m 3
@
=
E‘;E
=
=l e et
:._JD | _ |
8] 1 2 3
A B
4.

7720334497. 1

77263344982
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7720334497 1
7720334498. 2
7720334499. 3

7720334500. 4

The number of times the minute hand and the hour hand, in a clock, are exactly above

each other (i.e. angle between them is zero) from 1 am of a day to 1 am on the next day
is

1. 21
2. 22
3. 23
4. 24

7720334501. 1
7720334502. 2
7720334503. 3

7720334504. 4

www.FirstRanker.com
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1. 21
2. 22
3. 23
4. 24

7720334501. 1
7720334502. 2
7720334503. 3

7720334504. 4
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The graph shows relationship between smoking intensity and probability of getting lung
cancer in a population. Which one of the following inferences is supported by the study?

1. Smoking always causes lung cancer.
2. People have healthy lungs if they don’t smoke.
3. Smoking intensity is not directly proportional to the probability of getting lung

cancer.
4. High intensity smokers will get the lung cancer.

7720334505. 1
7720334506. 2
7720334507. 3
7720334508. 4
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0.020+

0.015+

0.0104

0.0054

Probability of Lung Cancer

u'am L] T ] T
0 0 40 60 a0

Smoking Intensity (cigarettes/day)

fopdl SEE H YWY D1 HET (Smoking Intensity; RFTREH / &) SR sl &
Wﬁﬁ:ﬁﬁﬁm (Probability of Lung Cancer) WWWﬁmW% |
T d g o 9 ey 39 siwgT ¥ gafiia 52

1. YUUH U A Hhal Bl SR Bl B |
2. el & Blhe W™ Bld & R d YPUH Jal &id |
3. YUUH &1 A Bl & HOR oiH &1 Wikddl & U 9 Y AHUlfds T8l & |

4. YYUH HLA aTd] &l Bhs! DI e ol |

7720334505. 1
7720334506. 2
7720334507. 3
7720334508. 4

www.FirstRanker.com



ml » FirstRanker.com

it tl':a?'hk” . Eba'?rigf!er of 1, 0.5l FiddtRaNkeraco mside squaggpay FikstRanker.com

1 cm as shown in the figure. The ratio of shaded area in A and B is one.

aded circles having

A

The ratio of shaded area in C and D would be

1.1
2.1.25
3. 1.5
4.1.75

Options: \@

7720334509. 1 "b'(\
&

7720334510. 2 . Q&

7720334511. 3 .
7720334512. 4 §

Question Number : 13 Question Id : 7720331128 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

www.FirstRanker.com
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A

4

C ¥R D & S[ifdd &bl Bl S=Uld gA?

1.1

2.1.25
3.1.5
4. 1.75

Options:
0\&6
7720334509. 1 Q

7720334510. 2 §
7720334511. 3
7720334512. 4

Question Number : 14 Question Id : 7720331129 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

www.FirstRanker.com
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How many triangles are there in the figure?

1. 35
2. 38
339
4.48

7720334513. 1
7720334514. 2
7720334515. 3

7720334516. 4
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1. 25
2. 38
3. 39
4,48

7720334513. 1
7720334514. 2
7720334515. 3

7720334516. 4

Each person in a group of teachers and students is given the same number of chocolates
as the number of students. If 4 more students are added then in order to have the same
number of chocolates per person as earlier, 28 more chocolates are needed. The total
number of students now is

1.7
2. 11
313
45

www.FirstRanker.com
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7720334517. 1
7720334518. 2
7720334519. 3

7720334520. 4

U el SR il & vig & ude o f[denfdal & Te o1 99H W | didde gl
TS | afg 4 faemnd ok 3 od € 9 Ud® @fed & U9 Ued & 9% & 9AF 493 §
didcie XGH & (oY 28 T didciel @ Aaaddl oidl & | af sl el & oa e
®

1.7
2. 11
3.13
4.15

7720334517. 1
7720334518. 2
7720334519. 3

7720334520. 4
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illuminated from the top so that the shadow of the ball on the ground oscillates. The
maximum probability of finding the shadow of the ball is at

1. the extreme points.

2. the mean point.

3. half the distance from the mean point.

4. one third the distance from the mean point.

7720334521. 1
7720334522. 2
7720334523. 3

7720334524. 4

U @R Jde H Ud 716 TP gaiid AN 1R U GHH 7Tfd ¥ g9 81 & | ae 59
SR &I IUT I U121 a1 9rdl & d1 g &1 191 eRIad IR alad &3di o | g
®F R g @ S/ & T &1 miadar sifdad gtz

1. B8R & fdgal ®

2.7 fig W

3. 79 fdg ol g R
4G i@ R P g W

7720334521. 1
7720334522. 2
7720334523. 3

7720334524. 4
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Five concentric, adjacent, semi-circular running tracks, each of mean length 100 m and
width 2.5 m are marked on a field. If the angle subtended by inner track is 1.00 rad, the
angle subtended by the outermost track is

1.0.90 rad
2.0.91 rad
3. 0.88 rad
4.0.98 rad

7720334525. 1
7720334526. 2
7720334527. 3
7720334528. 4

U HgH ¥ fafed uig ddbfam, Ue g itiqaiid 51 & JF H§ Udd @i HI4d &l 100
ot 3R e 2.5 /. € | 3fg ofd: arl gr1 ofafkd B0 1.00 rad & 91 99 961 AN g
3aRd S g

1.0.90 rad
2.0.91 rad
3. 0.88 rad
4.0.98 rad

7720334525. 1
7720334526. 2

7720334527. 3

7720334528. 4
www.FirstRanker.com
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In a legislative assembly of 250 members, political parties A, B, C, D and E got 100, 70,
48, 15, 7 seats, respectively, while 10 seats were won by the independents. If parties A, B
and C decide not to support each other, what is the minimum number of political parties

required to join hands to form a majority government?

1. One
2. Two
3. Three
4. Four

7720334529. 1
7720334530. 2
7720334531. 3
7720334532. 4

U@ QUMY § 250 96 H &, forgd ¥ IeHTa® Gal A, B, C, D Td £ GRI HA: 100, 70, 48,
15, 7 ®IF AR MGdg gR1 10 ™A a1 1 3G &d A, B 3R C U6 gO) I GHYH T8l o
&1 %90 B &, dl B9 U $F o &all B TP SgHd @] WOR & & [0l I 3

UL

1.0®
2. @l
3.4
4.9R

7720334529. 1 www.FirstRanker.com
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7720334532. 4

A heater is used to boil water in a container. The heater supplies heat at a constant rate
R. Water boils at 100 °C. Assume that the water in the container loses heat to the
atmosphere at a rate that is proportional to both, the temperature of the water as well as
to the volume of water in the container. If this proportionality constant is K then the
maximum volume of water that can be boiled by the heater is

1. 100/KR
2. K/100R
3. R/100K
4. KR/100

7720334533. 1
7720334534. 2
7720334535. 3

7720334536. 4
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1. 100/KR
2. K/100R
3. R/100K
4. KR/100

7720334533. 1
7720334534. 2
7720334535. 3
7720334536. 4

www.FirstRanker.com
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constant speed, while the other is decelerating. Which of the graphs shows the correct
change in their separation as a function of time?

]
=]
1 time
7
=
time
2.
I
=)
time
3.
@
g=
time
4

7720334537. 1
7720334538. 2
7720334539. 3

7720334540. 4
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HHY (time) & 1Y URad- @1 el U ¥ SI0idl 87

@
-
5 time
©»
-
time
2.
®
L= ]
time
s 8
©
L=
time
4.

7720334537. 1

772033453872
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7720334540. 4

The rate of hydration of [Cr(H20)sX]™ (X = N3~ F~, N~ and NH3) in neutral aqueous medium

remains unaffected in acidic medium at room temperature, if X' is

1. Ny~
2F

3.CN™
4. NH;

7720334541. 1
7720334542. 2

77203345433
www.FirstRanker.com
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ICH Sfeily HisH F G R & 10 R [Cr'(H0)5™ (X = N3, F-, CN- T NHz) &
SeieH o1 o, 3y A  myifed a8, 1 X ®

1. Ny~
2 F

3.CN”
4. NH;

7720334541. 1
7720334542. 2
7720334543. 3

7720334544. 4

The first ionization energy of the metals follows the order:

1.Zn > Cd > Hg
2.Hg = Zn > Cd
3.Hg > Cd > Zn
4.Cd = Zn > Hg

7720334545. 1
7720334546. 2
7720334547. 3

7720334548. 4

www.FirstRanker.com
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1.Zn > Cd > Hg
2. Hg > Zn > Cd
3.Hg = Cd = Zn
4. Cd » Zn > Hg

7720334545. 1
7720334546. 2
7720334547.3

7720334548. 4

The red colour of the gem, ruby is predominantly due to

1. 0% to AP*charge transfer

2. 0% to Cr’*charge transfer

3. Red emission (phosphorescence) of Cr*~ ions
4. Red emission (fluorescence) of AF* ions

7720334549. 1
7720334550. 2
7720334551. 3

7720334552. 4

www.FirstRanker.com
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1. 02— U AR+ @ 09 R

2. 02— "3t B MG WER
3. Cr3* HTTH! & A1 3o (SPRai)
4. A3+ 3O @1 A1d Scdod (Wiaaiia)

7720334549. 1
7720334550. 2
7720334551. 3

7720334552. 4

The correct pair among the following, in which each species shows orbital contribution to its
magnetic moment is

1. [CoCly* and [Ni(H,0)g]2*

2. [NiCl4)*" and [CoFg*

3. [Co(H20)¢]**and [Cr(H.0)5)*"
4, [Ni(NH3)gl2™ and [CrCly*

7720334553. 1
7720334554. 2
7720334555. 3
7720334556. 4

www.FirstRanker.com
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7720334553. 1
7720334554. 2
7720334555, 3

7720334556. 4

Marsh test is used to identify traces of the element,

1. As
2.5b
3. Bi
4 Se

7720334557. 1
7720334558. 2
7720334559. 3

7720334560. 4
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1. As

2.5h
3. Bi
4 5e

7720334557. 1
7720334558. 2
7720334559. 3
7720334560. 4

In a sample of charcoal, the remaining fraction of *Cis 2 x 1072, Its age (in years) is closest to
[Given ty/; of Ye=5730 years]

1.32x 10
2.3.0x10*
3.28x 104
4.34x 10

7720334561. 1
7720334562. 2
7720334563. 3

7720334564. 4

www.FirstRanker.com
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1.3.2x 104
2.3.0x10*
3.28x10%
4.34x 10

7720334561. 1
7720334562. 2
7720334563. 3
7720334564. 4

The correct statement(s) for oxygen from the following

A. The ground state for the O atom is *P;.

B. Both the atom and the diatomic molecule are paramagnetic with two unpaired electrons.
C. The most readily accessible singlet excited state for dioxygen has an empty n* orbital.
is/are

Choose the correct answer from the opticns given below:

1. A and B only
2. B and C only
3. A and Conly
4. B only

7720334565. 1
7720334566. 2
7720334567. 3

7720334568. 4
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frefaEd 9§ sffedivd & fau

L O WA B F=1cH =T 2p, B

i, TRATY] T FEORATO 310] G4 ©l & Sgfad SaacHl & O Faeod o

iii. STE3iadeH 31 ffaeiy Iuas f=ifte Sofed sTn 8 e Red - Ha@ gl ol
TSI DU B8

i) o (i)

(

(ii) T (iii)
(i) T (iii)
dd (i

1.
2.
3
4
7720334565. 1
7720334566. 2

7720334567. 3

7720334568. 4

The correct statement for peroxydisulfuric and dithionic acids from the following, is:

1. Each of these has two O-H bonds.

2. Peroxydisulfuric has one O-H bond and dithionic acid has two O-H bonds.
3. Peroxydisulfuric has two O-H bonds and dithionic acid has one O-H bond
4. Each of these has only one O-H bond

7720334569. 1
7720334570. 2
7720334571. 3
7720334572. 4
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RIS HcrRE qyl SEYUAIH® 3l & AU FHEfRad § 4 98wy 31

1. 399 U U H & O-H M B

2. R SIUHRS A= 8 U@ 0-H ey 9YT SRYRIH® = § &l O-H ey &
3. RIS U RS ¥ | &l 0-H 36y 7Yl SISYEIHE 2 ¥ Udh 0-H &Y ¢
4, IH Y UAS J $add Ud O-H €Y g

7720334569. 1
7720334570. 2
7720334571. 3

7720334572. 4

The correct statement for the CO and N; ligands in the complexes trans- [IrCI(CO)(PPh3);] and
trans-[IrCI{N;)(PPhs3)] is:

1. N is both better o-donor and better m-acceptor ligand than CO
2. CO is a better m-acceptor, but poor o-donor ligand than N;
3. CO is a better g-donor, but poor m-acceptor ligand than N;
4. CO is both better o-donor and better m-acceptor ligand than N3

7720334573. 1
7720334574. 2
7720334575. 3

7720334576. 4

www.FirstRanker.com
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1. CO Y (U N, [T U@ 98K o-GIaT YT 98K -T2l Gl 5
2. N, Bl 3U&T CO D o8k n-el 1R+ JB o-GIdll [aTs 5|
3. N, B 3{U&T CO T SgeR o- &Il W] Tod n-TTe! IS ol
4. N, @1 34 o TS UF 98 o-CIaT AUl §8ak -8l GHI g

7720334573. 1
7720334574. 2
7720334575. 3

7720334576. 4

Among the following divalent metal ions which forms polymeric compound, when ligand used

is CgHs~ only

1.V

2. Ni
3. Mn
4. Co

7720334577. 1
7720334578. 2
7720334579. 3

7720334580. 4
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1.V

2. Ni
3. Mn
4. Co

7720334577. 1
7720334578. 2
7720334579. 3

7720334580. 4

Match List I with List 11

List | List I
Metalloprotein Metal
A. carboxypeptidase A l. Mn
B. oxygen-evolving complex  |Il. Fe
C. hemerythrin I, Ni
D. coenzyme F-430 V. Zn

Choose the correct answer from the options given below:

1. A-lll, B-1, C-lI, D-IV
2. A-1V, B-l, C-Il, D-1lI
3. A-ll, B-lll, C-IV, D-I
4. A-IV, B-lll, C-1, D-II

7720334581. 1
7720334582. 2
7720334583. 3

7720334584, 4
www.FirstRanker.com
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YT I BT 39 U H1gsll ¥ HaH oife

g Ui 36|
A [DEIGHUPSY A | Mn
B |SHiae 3 B dld 9P I Fe
C [eERiyA Il Ni
D [HEUSIZH F-430 \Y Zn
o @1 9l 9 B

1. A-lll, B-1, C-lI, D-IV
2. A-1V, B-1, C-Il, D-1II
3. A-ll, B-Il, C-1V, D-I
4. A-IV, B-lll, C-1, D-II

7720334581. 1
7720334582. 2
7720334583. 3

7720334584. 4

2128j decays with the emission of an a particle. The resulting nuclide emits a p particle to give
an element

1. T
2.Pb
3. Po

4, At www.FirstRanker.com
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7720334585. 1
7720334586. 2
7720334587. 3
7720334588. 4

2128, ] & o-DHU & o 4 gldl & | Baaey 3d- fdags U p HU Bl Jior did
SIddcde @ o

1.7l
2.Pb
3. Po
4. At

7720334585. 1
7720334586. 2
7720334587. 3
7720334588. 4
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A. manganese(lll) complex

B. salen type ligand

C. cobalt(lll) bromide complex

D. 1-nitroso-2-naphthol type ligand

E. square pyramid geometry

F. square planar geometry

Choose the correct answer from the options given below:

1.C, D and F only
2. A B and E only
3.A DandEonly
4. B, Cand F only

7720334589. 1
7720334590. 2
7720334591. 3

7720334592. 4

www.FirstRanker.com
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a. b HTTTwI(II) T Spal &
b. TciH UBR &1 oS 81 &

c. U dialee(lll) SHES Idd o
d. 1-TT3EIG1- 27Ul TR 1 fomres gl &
aﬁqﬁﬁaﬁﬁﬁﬁﬁﬁﬂ%

7720334589. 1
7720334590. 2
7720334591. 3

7720334592. 4
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NMEE

NM
& G Me,N  NMe;

NMEE

MNMe,

A B Cc

Choose the correct answer from the options given below

1T.A>B=>C
2B=A>C
3C>B>A
4 C>A>B

7720334593. 1
7720334594. 2
7720334595. 3

7720334596. 4

www.FirstRanker.com
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NMEE
NM
: 2 MezN NMe,
MNMe,
NMEE
A B C
LA>B>C
2B>A=C
IC=B>A
A C>A>B

7720334593. 1
7720334594. 2
7720334595. 3

7720334596. 4

The most suitable reagent to effect the following conversion is

o

L L

1. BH3;-SMe3

2. Na, EtOH

3. NaBHg, CeCls
4. Ha, Pd/C

Lo GD

www.FirstRanker.com
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7720334598. 2
7720334599. 3

7720334600. 4

F=fafad ufitads @ TYE & & [T 9aiite 3ugad HieHd o

E;i;?ﬁg} EE EE )
o =

1. BH;'SME‘E

2. Na, EtOH

3. NaBHy, CeCls
4. H,, Pd/C

7720334597. 1
7720334598. 2
7720334599. 3

7720334600. 4
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NH; 0
RO~ Syg HOEL gy {P‘ -/L““*N |’JJ“‘MH
NH, NH; *len o L “q
HoN B
A B c D

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3.B and Conly
4. B and D only

7720334601. 1
7720334602. 2
7720334603. 3
7720334604. 4

S-USITYa AYEHTA & e

HOLC A~ Seye 0L~ <f“ A fLNH
NH; NH; N7 N
H

A B C D

TAdYUIC
2AdYID
3.BdylC
4 BdYID

7720334601. 1

7720334602, 2

7720334603. 3 www.FirstRanker.com
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The major product formed in the following reaction is

( H\Q/LO H, S0,

Me
i
s
[ f N
e '\I_ -“'|I ||
me 1

e

e M&

.-""'\-\..'"

u e ?

ﬁlME“Lﬁ

Ma

i3 E
C e @

7720334605. 1
7720334606. 2
7720334607. 3

7720334608. 4

www.FirstRanker.com
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Frfefad erfifear | faxfad =0 3aig §

Me
H,S0,
NH

Me

Me

-

I=

Me

NH
Me

Ve
Me

3. N

Me
Me
4, [ 1 N
Me

7720334605. 1
7720334606. 2
7720334607. 3

7720334608. 4
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The compound that answers both, haloform and Tollens’ tests, is

OH
Yoo
CHO

0
A
2. .
QJ\GG:H

EH
3. =T e
-
C’I{:HD

;
A
O
=R
0
77203346009. 1
7720334610. 2

7720334611. 3

7720334612. 4

www.FirstRanker.com
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OH
CHO
0]
O
CO,H

OH

O
CHO
0

77203346009. 1
7720334610. 2
7720334611. 3
7720334612. 4

The Hammett p-value for the following reaction is —2.0. The rate-determining step (RDS) is:

s, r;;:
x'_: = XT :l ] H- o
Step A M. P CcH
N"QH 'QH-,I Step B 3
|‘1|
Step © l Ha
£ 0 L@ S @OH,
S W N S S g

N7 oy swpD SN e,

1. 5tep A
2. 5tep B

3.5tep C
4. “'\Tpp n]

www.FirstRanker.com
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7720334613. 1
7720334614. 2
7720334615. 3
7720334616. 4

f=fafaa sfifsar & o 88 p-9M -2.0 81 & FUifa® 98 (RDS) & :

1. Step A
2. Step B
3. Step C
4 5tep D

7720334613. 1
7720334614. 2
7720334615. 3

7720334616. 4

H

www.FirstRanker.com

www.FirstRanker.com

L =,
Step C ] H.0
HY Y ©oH,
.- &J\
3 St&p D N CH3

www.FirstRanker.com
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e -84
S B

Choose the correct answer from the options given below

1.C>A>B
2C>B>A
2A>C>B
4B>A>C

7720334617. 1
7720334618. 2
7720334619. 3

7720334620. 4

www.FirstRanker.com
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-
S
N

1.C>=A=B
2C>=B=A

3A=C>B
4B>A>C

7720334617. 1
7720334618. 2
7720334619. 3

7720334620. 4

The following hydrocarbon, twistane, is

1. achiral due to the presence of centre of symmetry
2. achiral due to the presence of plane of symmetry
3. chiral with no elements of symmetry

4. chiral with C;z-axes of symmetry

7720

-—
3

op
N

4

w
01)}

www.FirstRanker.com
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7720334623. 3

7720334624. 4

Frafefed sSieH efies

1. GAMATT B IuRYd 8H & BRU Hfd &
2. AT 90 @ JuRUfd & SR AfGd 8

3. @3 Vi gafafd a7 81 & sRu fta &

4. C,-gafEfa &l & 9y fod &

7720334621. 1
7720334622. 2
7720334623. 3

7720334624. 4

www.FirstRanker.com
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oxygen and a photosensitizer is www.FirstRanker.com www.FirstRanker.com

7720334625. 1
7720334626. 2
7720334627. 3

7720334628. 4

e Y TR GUE SRS B IURU H GEEieH o G IugHE Al o
R TEIsaG &

OH
OOH

2’ O

3‘ QO

OH

4,

OH

www.FirstRanker.com
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7720334625. 1
7720334626. 2
7720334627. 3

7720334628. 4

The major product formed in the following reaction is

MalEt
»'(i ‘”‘"*T’"“‘m
L
CO,Et
0
1. |
COsEt
0
3 /\f
CO,Et
0
S "
1 |
CO,Et
0
A
4, |

7720334629. 1
7720334630. 2
7720334631. 3

7720334632. 4

www.FirstRanker.com
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Frfefad srfifhar H faxfad g=1 Saie 8

-

CO,Et

i

COsEL

0
S
3.
CO,Et
0
C

& dj‘\/‘\f
O,Et

7720334629. 1
7720334630. 2
7720334631. 3

7720334632. 4

www.FirstRanker.com
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7720334633. 1
7720334634. 2
7720334635. 3

7720334636. 4

www.FirstRanker.com
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Brg
- -

Br H

(LI

wad

7720334633. 1
7720334634. 2
7720334635. 3

7720334636. 4

Given in the options are compounds with the molecular weight 125. The one that will show the
El mass spectral data: 125 ([M]", 55%), 126 ([M+1]7, 3.65%), 127 ([M+2]", 2.35%) is

1. CgH7NS
2. CgH7NO>
3. C7HsFN

4. CgHysN
www.FirstRanker.com
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7720334637. 1
7720334638. 2
7720334639. 3

7720334640. 4

fe 7 fawedl § 9ifd 125 3Nftad dgfd & 81 £ 5odaH Waed Jidsl: 125 (M]*, 55%), 126
(IM+1]7, 3.65%), 127 ((M+2]", 2.35%) B 9 QAT a8 WD &

1. CgH7NS
2. CgH7NO>
3. C7HsFN
4. CgHysN

7720334637. 1
7720334638. 2
7720334639. 3
7720334640. 4

The compound that will show six signals in the proton-decoupled'>C NMR spectrum is

L g

E.ﬁ
g B
4, ”Z:ﬁ\

www.FirstRanker.com
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7720334641. 1
7720334642. 2
7720334643. 3
7720334644. 4

UleH-3/gfEd 3¢ NMR WaeH H o diffie &: Ra arifwm a8 ©

7720334641. 1
7720334642. 2
7720334643. 3
7720334644. 4

www.FirstRanker.com
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1. l’_jgv and {“21?

2. €9y, and Cypy
3 Czh and CELJ
4. Cop and Cyp

7720334645. 1
7720334646. 2
7720334647. 3
7720334648. 4

cis- Y trans-1, 2 -SlaIR! WielH & fdg v4qg € Hazn:

1. CEU adl CEU
2. Cypp TUTCy,
3. Cop, TGy,
4. Cyp, dHI G5y,

7720334645. 1
7720334646. 2
7720334647. 3
7720334648. 4

www.FirstRanker.com
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l CERESS QR A9 IR energyrn system following Boltzmann distribution of
energy is (Q : partition function, T : temperatud VW : BURIRAMKEIEGR, N : numB¥Maw -FirstRanker.com

molecules and | : volume)

al
it (229)
NV

dlng

2. kgT (

7720334649. 1
7720334650. 2
7720334651. 3
7720334652. 4

Foll & oTT FiccHHH a0 BT SR 63 a1 U FdE i e Sl ol Ygl ovid ¢ (Q
- [QHTSH B, T : 1Y, k,, - SiccqH (dic N Uil o1 S a1 | : 31da)

ket (),

NV
5 RBT (ﬂ]n Q)

7720334649. 1
7720334650. 2

7720334651. 3

77203346524
www.FirstRanker.com
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A metallic lattice exhibits peaks corresponding to Miller indices (110), (111), (210), and (211) in
its powder XRD pattern. The metal is crystallized in the Bravis lattice

1. body centered cubic
2. face centered cubic
3. side centered cubic
4. primitive cubic

7720334653. 1
7720334654. 2
7720334655. 3

7720334656. 4

UI3S XRD Te- # U 91 &1 Wil (0o Jadbidi (110), (111), (210), T (211) & ITEY R
i 31 59 Sige fored g fpeeRid el e, 98 8

1. B iad T
2. FO® iad 9H1
3. Yol hi5d T
4. ¥ o

7720334653. 1
7720334654. 2
7720334655. 3
7720334656. 4

www.FirstRanker.com
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In the electric double layer model, the difference in potential between the fixed part of the

double layer and bulk solution is called:

1. Zeta potential

2. Double layer potential
3. Sedimentation potential
4. Chemical potential

7720334657. 1
7720334658. 2
7720334659. 3

7720334660. 4

35T R 1S a &, fiReR & 2g WM qu1 faRgd fAaaH & el favd 3R &1 ded &

1. oitel fayq
2. fgxR faua
3. ¥q91e- fava
4, IS fayd

7720334657. 1
7720334658. 2
7720334659. 3

7720334660. 4

www.FirstRanker.com
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conductance is 1.5 Scm™ .

ql » FirstRanker.com

If the resistance of a 0.05 M NaCl in the same cell is 750 chms, then the molar
conductance (S cm? mol™) of the NaCl is:

1. 6,000
2. 8,000
3. 12,000
4. 3,000

7720334661. 1
7720334662. 2
7720334663. 3

7720334664. 4

UH 9d H 0.1 M KCI faaa- &1 UfaklY 300 ohms & 3R 39@! 3R Irdddl 155 cm™' 81 341
e 1 0.05 M NaCl @1 U{cRIY 750 ohms &, dl NaCl @1 AR Id@d! (S cm? mol ') &:

1. 6,000
2. 8,000
3. 12,000
4. 3,000

7720334661. 1
7720334662. 2
7720334663. 3

7720334664. 4

www.FirstRanker.com
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1. cosH(1/V2)
2. cos 1 (V3/2)
3.cos"1(1/2)
4. cos1(1 f"n."i}

7720334665. 1
7720334666. 2
7720334667. 3

7720334668. 4

z-31& TUT m, = +1/2 B QS Ry Fivfig Y31 & A Hiv g

1. cos™1(1/v2)
2.cos 1 (v3/2)
3.cos }(1/2)
4 cos 1 (1/V3)

7720334665. 1
7720334666. 2
7720334667. 3

7720334668. 4

www.FirstRanker.com
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l it 7 LéEﬁEJéF Hnltﬁtiér%gular momentum quantum number, j for an electron

occupying an forbital are www.FirstRanker.com www.FirstRanker.com

1.7/2 and 5/2
2.1/2 and -1/2
3.9/2 and 7/2
4. 3/2and 1/2

77203346609. 1
7720334670. 2
7720334671. 3
7720334672. 4

‘f DEE T 99 UP sude & (a8 YUl SIUY Uo7 9= & FHd A &

1.7/2d4l 5/2
2. 1/2d41-1/2
3.9/2d417/2
4. 3/2d4l1/2

7720334669. 1
7720334670. 2
7720334671. 3

7720334672. 4

www.FirstRanker.com
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the same temperature, among the following, ;Swww.FirstRanker.com www.FirstRanker.com

1. 0.1 moles of benzene and 0.9 moles of toluene
2. 0.25 moles of benzene and 0.75 moles of toluene
3. 0.6 moles of benzene and 0.4 moles of toluene
4. 0.8 moles of benzene and 0.2 moles of toluene

7720334673. 1
7720334674. 2
7720334675. 3
7720334676. 4

i3 B ® el @ I 7 &Y, FHEfarad J § 0 fous! 99F dY )R aiide fed
IH ol ¢, 8 ¢

1.0.1 moles Sl TUT 0.9 moles E'klfﬂ:ar_*[
2.0.25 moles S=il T4T 0.75 moles E'Ulf“[ar:[
3. 0.6 moles S TUT 0.4 moles E'klfﬂ:ar_*[
4.0.8 moles &l G741 0.2 moles E'klfﬂ:ar_*[

7720334673. 1
7720334674. 2
7720334675. 3

7720334676. 4

www.FirstRanker.com
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1. dg

2. TdS - PdVv
3.7dS - VdP
4. VdP + SdT

7720334677. 1
7720334678. 2
7720334679. 3
7720334680. 4

Y ST SR T BT Yk DT &, Tg & (F0r Bl R gl S ol §8 W ot 71 v
YD §, 38 TR Bl IR0 Ba)

1.dg

2. TdS - PdVv
3. TdS - vdP
4. VdP + SdT

7720334677. 1
7720334678. 2
7720334679. 3

7720334680. 4

www.FirstRanker.com
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A < Fiplgcds padergqaig; simple harmonic motion has a displacement (g) of
4.9x10™2m . Its force constant is 1610 N m™ WWALGIESERANKET COMe molecu MW FirstRanker.com

Joules)

1.1.93 x 10%
2.193x 103
3.3.86x 100
4.193 x 100

7720334681. 1
7720334682. 2
7720334683. 3

7720334684. 4

U FEURAIG U] it WRe 37 it H 8, B oI faTud (q) PTAM 8, 4.9 x 10-12m 39 oY
ga (1gdi® 1610 N m™! 81 310 @I RS Sl (Joules T) B

1.1.93 x 102
2.193x 104
3.386x 100
4,193 x 1070

7720334681. 1
7720334682. 2
7720334683. 3

7720334684. 4

www.FirstRanker.com
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1. atoms 1 and 2
2. atoms 2 and 3
3. atoms 1 and 3
4. equally on all the atoms

7720334685. 1
7720334686. 2
7720334687. 3

7720334688. 4

AR gae o [ 999 $i-4d & 3

1. GRETO[3T 1 0912 W
2. TRHUHT 2 U1 3 ||
3. TRHTUHT 1 U1 3 ||
4. 9HF Y T g A0 )|

7720334685. 1
7720334686. 2
7720334687. 3

7720334688. 4

www.FirstRanker.com
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:I l f}fﬁ%ﬁ%@% Q{Eﬁgr&z&%ﬂm products , is Lmol Imin. If the half life is

300 min when [Ag] = 0.05 M, its half-life (in mlr‘ﬁ"’xfWerE'[Asz%kﬁr € QMsest 1o WWW.FirstRanker.com

1. 450
2. 300
3. 150
4.75

7720334689. 1
7720334690. 2
7720334691. 3

7720334692. 4

HUFT nA — IS @ o 31 5@ & 31 & Lmol " .min”, [Ag] = 0.05 M TR 38@1 34
3 300 min &, 96 [Ag] = 0.1 M & a1 39@! el A (min H), forgd Mdead g, a8 8

1. 450
2. 300
3. 150
4.75

7720334689. 1
7720334690. 2
7720334691. 3
7720334692. 4

www.FirstRanker.com
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l IoR; ‘EE’Fﬁ,ﬁE&P@”&WH}&'eaSt ependent on the dielectric constant of the medium
www.FirstRanker.com www.FirstRanker.com

is : [P = product(s)]

1505 +1" > P
2.CH;COOC,H; + OH™ = P
3. A% + [M(C,0.)3]* = P
LAt ity p

7720334693. 1
7720334694. 2
7720334695. 3
7720334696. 4

¥ forge av Fadis &1 A1ed & Ridegdis R AR <gHd4 8, 98 ©: [P = SdIG]

1508 +1" > P
2.CH;COOC,Hy + OH™ - P
3.A% + [M(C,09)3)° - P
4A*+ B > P

7720334693. 1
7720334694. 2
7720334695. 3
7720334696. 4

www.FirstRanker.com
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ﬁmﬁ%c}lgﬁwd&?rms ?atc:m economy, among the following, is

www.FirstRanker.com www.FirstRanker.com
1 i. CHyMgBr Pt
+ PhCHO i e
i HyO" Ph" "CHjy
Grubbs'
5 rf““aﬁ" catalyst m
n e
T o
3 i i IR MON_
o AT R O
o oHo MOy "
4 [ I R

7720334697. 1
7720334698. 2
7720334699. 3

7720334700. 4

Frafafad o @ < ua] firgorgar § geifs g g, 98 i g

1 I. CH;MgBr /?\H

- PhCHO -
i. HyO* B o
Grubbs'

(;/\ catalyst
O 0 heat \)[j)\ H

O
4, ©/ - o)

Hﬁ

7720334697. 1

7720334698. 2 www.FirstRanker.com
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7720334700. 4

www.FirstRanker.com
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A. Oxy-Hb is formed in lungs, whereas oxy-Mb is formed in tissues.

B. Mb has greater affinity for dioxygen than Hb.

agw 1 = H h
C. The equilibrium constant for the formation of the oxy-Mb is Ky = [i;][ng]]
2
D. The equilibri tant for the formation of the oxy-Hb is Ky = ow2)s]
. The equilibrium constant for the formation of the oxy IS Ryp [HB][0,]*

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand D only
3.B,Cand D only
4. A B and D only

7720334701. 1
7720334702. 2
7720334703. 3

7720334704. 4

www.FirstRanker.com
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A, 3MadHl-Hb B3| H §d! & Said Sla9i-Mb BII®1 H 8941 &
B. Hb T 3U&T Mb BT fiaie & Ufd ST e sidl 8

c. Affi-Mb T & RU AW RRIGE K, = tanozl

[Mbl[0.]
D. A -Hb TH S U T RRIB & K, = %ﬂ
Hel Y &;
1A BTUIC
2.A CTUID
3.B,CTID
4.A BTUID

7720334701. 1
7720334702.
7720334703.

A WN

7720334704.

Based on Wade's rules, the correct structure types for [BsH1g), [BsHs]%, [BigH14] and
[Mn(CO)4B3Hg] respectively, are

1. arachno, closo, arachno, and hypho
2. nido, nido, arachno, and hypho

3. arachno, close, nido, and arachno
4. nido, closo, nido, and hypho

7720334705. 1
7720334706. 2

7720334707.3

7720334708. 4
www.FirstRanker.com
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[BsH1gl, [BeHal%, [B1oH14] TYT [Mn(CO)4B3Hg] P 10 38 o Fad! WX 3nemid Eea1aff & Tal
UFR &, HHIL:

1. arachno, closo, arachno, 4T hypho
2. nido, nido, arachno, 94l hypho

3. arachno, closo, nido, A4l arachno
4. nido, closo, nido, A4 hypho

7720334705. 1
7720334706. 2
7720334707. 3

7720334708. 4

The number of Ge—Ge, Te-Te and Pb-Pb bonds in Ges*, Tes®~ and Pbs™", respectively are

1.6,4and 8
2.4 6and9
3.6,4and9
4.4 6and 8

7720334709. 1
7720334710. 2
7720334711. 3

7720334712. 4

www.FirstRanker.com
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A Firstrankdy'sehpide
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Ges™, Tes?” @UT Pbs> H Ge-Ge, Te-Te YT Pb-Pb SMTsiEll &1 T &, A

1.6,4d4l8
2.4, 6dyl9
3.6,4d4r9
4.4, 6d4ls

7720334709. 1
7720334710. 2
7720334711. 3

7720334712. 4

The [(F]S-CgHS)FE[CDJE]z malecule exists in solution as a 1:1 mixture of cis- and trans-isomers.
At 28°C , 'H NMR spectrum of the molecule shows

1. One singlet
2. Two singlet
3. Four singlet
4. Three singlet

7720334713. 1
7720334714. 2
7720334715. 3
7720334716. 4

www.FirstRanker.com
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1. T f=Tfere
2.3 fmrfere
3. IR fi=iere
4. 4 F=fere

7720334713. 1
7720334714. 2
7720334715. 3
7720334716. 4

Consider the following with regard to gas chromatography (GC).
A. Electron capture

B. Deemter equation

C. Partition Coefficient

D. Critical temperature of gas

0Of the above, which are relevant to GC?

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Cand D only
3.B,Cand D only
4. A B and C only

7720334717. 1
7720334718. 2

7720334719. 3

7720334720. 4
www.FirstRanker.com
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9 BiHeim! (GO) & Jay H [ I [3aR oifore
A, goideid UUgUl
B. SIHCT GHIDR
c. faureH s
D. 719 @I Hifde dld
SWIFd & ¥l 6c & o yrife €, 98 &

1.ABJYID
2.A CdYID
3.B,CdUID
4 A BOYUIC

7720334717. 1
7720334718.

7720334719.

A W N

7720334720.

Considering spin-orbit coupling, the multiplet width [Wgg = AS(2L+1)] for Eu** ion is

1. 14A
2. 21TA
3. 7A
4. 28A

7720334721. 1 www.FirstRanker.com
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7720334723. 3

7720334724. 4

Fu* 3 & ot REU--a el g0 &1 &4 O Wad U 98 dlels [Wsg = AS(2L+1)] 8

1. 14A
2. 21A
3. TA

4. 28A

7720334721. 1
7720334722. 2
7720334723. 3

7720334724. 4

www.FirstRanker.com
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identify the correct ones.

A. Cog(CO)14*~ — capped trigonal bipyramid

B. Nig(CO)15> — trigonal antiprism

C. RhgC(CO)y5> = trigonal prism

D. Osg(CO)qg — octahedron

Choose the correct answer from the options given below:

1. A, Cand D only
2.B and C only
3.B and D only
4. Cand D only

7720334725. 1
7720334726. 2
7720334727.3

7720334728. 4

www.FirstRanker.com
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A. Cog(CO)4* ~ — Eiidd Bramay fefikfire
B. Nig(CO)1,%~ — FgwHare wfafted

C. RhsC(CO)y5% — Faaae {eH

D. Os4(CO)yg — HEHTD

IR e

1A CdYylD
2.BdUiC
3.BdYUID
4.Cd4lD

7720334725. 1
7720334726. 2
7720334727.3

7720334728. 4

For octahedral geometry the triad with no net gain in CFSE, when the ligand field changes
from weak to strong, is

1. Fe?*, Co®*, Mn?*
2. NiZ*, pt2*, Cr*

3. Mn%*, Fe®*, Ni**
4. Co®*, 0s**, Rh3*

7720334729. 1
7720334730. 2

7720334731.3

7720334732. 4
www.FirstRanker.com
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AT I & [y, 7S &7 @i gaa § Jad o3 |, crse & i e & i o 1
Y el gldTe, 98 8

1. Fe?*, Co?*, Mn?*
2. NiZ*, pt2*, Cr*

3. Mn®*, Fe**, Ni**
4. Co*, 0s**, Rh**

7720334729. 1
7720334730. 2
7720334731.3

7720334732. 4

The possible terms arising from a p'd’ configuration are

1. 'Fand °D
2. 3Fand °D
3.%Fand 'D
4. 3Fand 'F

7720334733. 1
7720334734. 2
7720334735. 3

7720334736. 4

www.FirstRanker.com
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pld! fd0g & uRUPReEy GUd UG §

1. 'F QYT 2D
2. 3F QYT 3D
3.3FdUT'D
4. FQUI'F

7720334733. 1
7720334734. 2
7720334735. 3

7720334736. 4

Consider following statements regarding the magnetic moment of the 3d transition metal
complexes:

A. Octahedral complexes of Mn' (high spin) and Fe' (high spin) have i approximately equal
to their [y values.

B. Tetrahedral complexes of Ni and octahedral complexes of Co!' have orbital contribution
added to their magnetic moments.

C. Orbital contribution is quenched for metal ions having A or E ground state.

D. Octahedral complexes of Cu' have Heff > Hspin value at 300 K due to orbital contribution
added to their magnetic moments

Choose the correct answer from the options given below:

1. A B and D only
2.B,Cand D only
3.A B and Conly
4. A, Cand D only

7720334737. 1

7720334738. 2 www.FirstRanker.com
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A 1BBBanker's choice
7720334740. 4

www.FirstRanker.com www.FirstRanker.com

3d ThHUT Ui & Yool o Yeitl § FHieiad duAl W faaR s

A M @= FR) qUT Fe!! @2 M) & CBaId §9Tl & e TIHT ITDT g AFI
TAF B ©

B. Nill & b Gl aul Co'' & HHeidig Hdpal o 18 H&id AN GH 3 4adid
O & 3T &Il &

C. UTqa ot FeaH w1 A F1E §, & [oY Béid MG &1 U9 g1 91l &

D. Cu'' & BT HHall B 1T 300 K W puegy FH > i A, TP HES TNCH I7S
91T AT F T R

?ﬁﬂaﬁFTg

1.A B d4ID
2.B,Cd4ID
JABAYIC
4 A CdYD

7720334737. 1
7720334738. 2
7720334739. 3

7720334740. 4

www.FirstRanker.com
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175-180 “C

A. Si0,; + LiAH, = SiH, + LIAID;

B. 25°C
© SH#20; ————=  §i0,+2 H,0

o

C. SiHy + 4 H,0

4 H, + Si{OH),
Basic medium

Choose the correct answer from the options given below:

1. A only

2. C only

3. B and C only

4. A B and Conly

7720334741. 1
7720334742. 2
7720334743. 3

7720334744. 4

fFrfaRed | 9 9vg iy g/ sifHfsand €

175-180 "C
A

Si0; + LiAH, SiH, + LIAIO;

—_— 25 °C
" 8iHg#+20; —  5i0,+2 H,0

- 25°C y
C. SHy+ 4 H;0 ————— 4 H; + Si{CH),

Basic medium

1. Had A

2. ®ad C

3. Had BAYUIC
4. A BTYUIC

www.FirstRanker.com

7720334741. 1 www.FirstRanker.com
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7720334743. 3

7720334744. 4

Isolobal pairs from the fragments (A-D) is /fare

A. {BH}

B. {Fe(CO);

C. {P}

D. {Co(CO)3)

Choose the correct answer from the options given below:

T.Aand D;: B and C
2AandB;Cand D
3. A and B only

4 AandCBandD

7720334745. 1
7720334746. 2
7720334747. 3

7720334748. 4

www.FirstRanker.com
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A. {BH),

B. {Fe(CO)z}.
C. {P},

D. {Co(CO)3}

TLAJQUID;BdUIC

2 ATYUTB: CTYUTD
3. Hhdd ATYUTB
A ATYTC: BTYTD

7720334745. 1
7720334746. 2
7720334747. 3

7720334748. 4

The reaction(s)/event(s) used to prove the existence of neutrinos is/are
Ae"+e —y+y

B. 3cd(n,y) *4cd*

C. 133Cs(a,4n)*La

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3. B and C only
4. B only

7720334749. 1 www.FirstRanker.com
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4FBst2anker's choice
7720334751. 3

www.FirstRanker.com www.FirstRanker.com

7720334752. 4

) aeid) ot gfedf & sifid ol g &l 8/, 8 e/
Aet+e sy+y
B. 13Cd(nyy)cd*
C. 133Cs(o4n) ¥ La

TAQUIC
2. AdYUIB

3.BTYTC
4 Hdd B

7720334749. 1
7720334750. 2
7720334751. 3

7720334752. 4

In solution, Vaska's complex is known to bind O reversibly. In the product, oxidation state of
the metal ion center coordination geometry and mode of binding of O, respectively are

1. +3, octahedron and side-on
2. +3, square pyramid and end-on
3. +1, octahedron and side-on

4. Ftrigomatbipyrarmid-and-end=on

www.FirstRanker.com
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7720334753. 1
7720334754. 2
7720334755. 3
7720334756. 4

e & I Td 0, ¥ IehAuig T 3 v $dl ol SUIG B YT 9 &5 @] Hadid
3aY], GeUgIo® SuIid aul 0, B st A8 5, HAT:

1. +3, ARHAD, IYUT FZS-3HH

2. +3, T RS, U R-3id

3. +1, ICHAD, qU TE3-3HH

4. +1, g fERES 9y R-3m

7720334753. 1
7720334754. 2
7720334755. 3

7720334756. 4

www.FirstRanker.com
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Os(CO)3(PPhs); + Bry — Os(CO)x(PPhs)a(Br); (A) + CO
Mo(CO)s + 3 PEt; — Mo(CO)3(PEts); (B) + 3 CO

The correct stereochemical dispositions of the Br ligands in A and the CO ligands in B,

respectively, are

1. trans and fac
2. trans and mer
3. cis and fac

4. cis and mer

7720334757. 1
7720334758. 2
7720334759. 3
7720334760. 4

FEfaRad sy iR (U S|

Os(CO)3(PPh3), + Bra — Os(CO)(PPhs)a(Br)z (A) + CO

Mo(CO)s + 3 PEty — Mo(CO)s(PEts): (B) + 3 CO

Br fe=si @1 A H @Y1 co forT=8! @1 B H U FaH IWEHS Ya 8, HH:

1. trans Y1 fac
2. trans d4l mer
3. cis d4T fac

4. cis d4l mer

7720334757. 1
7720334758. 2

7720334759. 3
www.FirstRanker.com
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The ground state term symbol and the g; value for Pr* ion, respectively are (Atomic number
of Pris 59)

1.°Hg and 6/7
2. *Hg and 4/5
3. °Hg and 6/7
4.%H, and 4/5

7720334761. 1
7720334762. 2
7720334763. 3

7720334764. 4

Pr3* ion @ 7T FR-IdH S1GRYT U Udld TUT g; T HMH & HH: (Pr &I URHIY] AT, 59)

1. *H, dY4T 6/7
2. *Hg dYT 4/5
3. *Hg dYT 6/7
4. 3H, dYT4/5

7720334761. 1
7720334762. 2
7720334763. 3

7720334764. 4

www . FirstRanker.com
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For CO, the contour plot of the molecular orbital which best represents the HOMO is

7720334765. 1
7720334766. 2
7720334767.3

7720334768. 4

www.FirstRanker.com
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7720334765. 1
7720334766. 2
7720334767. 3
7720334768. 4

www.FirstRanker.com
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A. Coordination geometry of Cu'-ion is distorted tetrahedron

B. The geometry around Cu" changes to square-planar on reduction

C. In EPR spectrum, the Aj values are smaller in plastocyanine than in CuCly*
D. The active site contains the amino acids histidine and cysteine only
Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. A, B and D only
4. B, Cand D only

7720334769. 1
7720334770. 2
7720334771. 3

7720334772. 4

Frefared oA § U 39! 9T 9 WREII-H &1 YaiaH ui- &d o
A Cu'-35F B GeudeTs i [ded 9qubad o
B MUY & URTd Cu' & 3o-fohe sl aFf ocfl 81 &Il 21
C EPR WEHH CuCl,2 B AU TR & [T A & HH B 8id g
D Tihy Wcl H dhadl UTHHT 3 BEISH 9yl RH 8l B
SR T

1.AQYUIC
2AdYTD
3. ABdYID
4 B CdylD

www.FirstRanker.com
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A 4FeBsttanker's choice
7720334770. 2
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7720334771.3
7720334772. 4

Consider the 3'P NMR (decoupled from 'H and '®°Pt) spectra for the isomers of ‘A’
[PtBrCl(PMe3);] and ‘B’ [IrCl;(PMes)z], separately. The number of 3P NMR signals for the
different isomers of the complexes are given in the table below. The correct answer is set

1. No. of *'P resonance signal(s)
Complex A Complex B
isomer 1 isomer 2 isomer 1 isomer 2
one one Cne One
2 No. of 2'P resonance signal(s)
Complex A Complex B
isomer 1 isomer 2 isomer 1 isomer 2
one two one Two
3, No. of 3'P resonance signal(s)
Complex A Complex B
isomer 1 isomer 2 isomer 1 isomer 2
two two one Two
4 No. of 2'P resonance signal(s)
Complex A Complex B
isomer 1 isomer 2 isomer 1 isomer 2
one two Two Two

7720334773. 1
7720334774. 2
7720334775. 3

7720334776. 4

www.FirstRanker.com
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‘A’ [PtBrCI(PMes);] GUT ‘B’ [IrCl;(PMe3);] & GHIagadl @& 3P NMR ('H dul %3Pt § i) W
S{ET-3feH faaR Sifore| dopedl & fafi= garagal & foe 3p NvR Rea! @1 e Hid difeia!

EEARIEE
TEl Ie & ¥
¥1p ST fye el &1 9=
' HPd A 4Pd B
TAEgd1 | §AGEd2 | §AGU91 | HHEE92
@ LEg EEg P
¥1p 3T Fv Rl &1 g
: HPd A UPd B
TAEgd1 | §AEE92 | §AGUG1 | HHEAE2
@ al @ a
¥1p 3rTE Ty Rl &1
3’ T A ¥ 8
TAEgd1 | §AEE2 | FAGUE1 | HHEUE2
al ol L2 a
¥1p 3T Ry el @1
¢ HPd A 49d B
TAEgd 1 | §AMEUd2 | FAGUET | HHEUE2
i al d @
7720334773. 1
772033477472
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7720334776. 4
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Mossbauer spectrum of Fe(CO)s at liquid nitrogen temperature in the presence of a field
gradient and taking into effect quadrupole interaction [For *'Fe, | = 1/2 for the ground state
and | = 3/2 for the first excited state], shows a

1. quintet
2. triplet
3. doublet
4. singlet

7720334777. 1
7720334778. 2
7720334779. 3
7720334780. 4

54 TgelvH & a9 W, &7 I3 ¥ SuR[ § U1 9qde o b & v B o
Fe(CO)s 1 HIGER WaeH, T 8 [TFe, | = 1/2 FH @R & [T | = 3/2 1y Iodford
R & o7y

1. Jd®
2. fad
3.fgd
4, Thth

7720334777. 1

7720334778. 2 www.FirstRanker.com
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7720334780. 4
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The major product formed in the following reaction is

OMe . LDA
ok :
L one
b g, ii. :(\

OMe
iii. Hy0'
OMe
O
' @j
OMe
3 i
i
[
Oe

4

3. 1
0
OMe

7720334781. 1
7720334782. 2
7720334783. 3

7720334784. 4

www.FirstRanker.com
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f=fafaa sfiferar & fafod g1 ST B
OMe i. LDA
OMe
Br 1. :::<
OMe
iii. Hy0*
OMe
0
1 ] s
o
OMe
2 | S
—
0
OMe
3.
0
OMe
4
0

7720334781. 1
7720334782. 2
7720334783. 3

7720334784. 4

www.FirstRanker.com
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The major product formed in the following reaction is

formalin
Ph” -
conc. Ha 50,

0

' Ph/[ D>
Ph

2. t;j*’

3, B0 \‘C{]
Ph

2 T

0._0

7720334785. 1
7720334786. 2
7720334787. 3

7720334788. 4

www.FirstRanker.com
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e formalin
Ph™ ™= -
conc. HxS0y

O

' Ph/[ ‘3>
Ph

> \(Dj

5 F‘h\CD

) Ph\(\

0._0

7720334785. 1
7720334786. 2
7720334787.3
7720334788. 4

The sequence through which the following reaction proceeds is

s Hi OH
heat e M

- o i i
L, L Eahy

e
o

1. Claisen rearrangement, tautomerization and Cope rearrangement
2. Claisen rearrangement, aza-Claisen rearrangement and tautomerization
3. Cope rearrangement, Claisen rearrangement and tautomerization
4. Claisen rearrangement, tautomerization and aza-Claisen rearrangement

7720334789. 1

7720334/90. 2
www.FirstRanker.com
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7720334792. 4

Frfafad srfifhar o9 H & JOR IR EdI 2, 88

rj‘:r"” (1)1,\

1. Feio QAAOT, Ie1a0d §941 Y1 $IY HiEd0™
2. Tt YATG-aTY, US- tefoid QATd-0TY, 9T Ioiadd &1

3. I JHGIY, Ffoi GAE-arg 9y Iaagad g1
4. Tl A0, I9a0d S99 9YT Ud- i a0y

7720334789. 1
7720334790. 2
7720334791. 3

7720334792. 4

www.FirstRanker.com
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1. MesCuli, ELO, —78 °C
me\[)k & i .
| J 0
o then ’;f&T’/'
M
2 KOH, MeOH
Me
Me
1.
O

7720334793. 1
7720334794. 2
7720334795. 3

7720334796. 4
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1. Me,Culi, Et,O, =78 °C

Me -
O
then =
Me
2. KOH, MeOH
M
eMe
|
1. -
0
Me
Me
Vie
2. =
(@]
Me
Vie
3. ="
0O
Me
M
“Me
4.
O

7720334793. 1
7720334794. 2
7720334795. 3

7720334796. 4

www.FirstRanker.com
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WL

HO, ,COH
" Ho,o_4__COM

Me. ~_ Me

F . :
Cl" BrBr Cl
ME’H o ME
- e il
Br Br
OH OH
4 z

L
HyC” " CHj;

7720334797. 1
7720334798. 2
7720334799. 3

7720334800. 4
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v

HO, ,CO,H

" Ho,c_A4__COM
Me Me

Cl" BrBf Cl
Me Me

3.
Br Br
OH OH
4. f
H,C CHj

7720334797. 1
7720334798. 2
7720334799. 3
7720334800. 4
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—CO,H
A 1. 8OCl,

<
L—_;_:_"_,/ . a5 EHQNQ
Y 3. hy

7

o

e
1
0

7720334801. 1
7720334802. 2
7720334803. 3

7720334804. 4
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_CO,H
1. SOCI,

E:e< 2. CHsN,
3. hv

/

/

G

O
4 :E
@]

7720334801. 1

7720334802. 2
7720334803. 3

7720334804. 4

www.FirstRanker.com
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Cyclization of the following dipeptide under mildly basic conditions gives

HO
o O
N
H5N “‘_.)J\'C}Me
s B
OH

)

=
=
o
ik o
I\I,—{
U
=]
=

e
)

[
= o
Q2
’
oo
=
Df
=

L
< T
J,.—Z

&
o
=
-

@)

£y o=

e
et

s
=
z
Ox %ﬁ
&
!
i

7720334805. 1
7720334806. 2
7720334807. 3

7720334808. 4
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HO
H O
HQNHN\AOME
©  “Son

0. O
\T OH
: HEN'gi 'Jr_l/
NH
0

0
; HNJY\DH
' HDM,.KH,N
e
0
HN J\ H
~ HO_
0

e

H
e
NH

o

0 O

Ao
H;N

NH

=

0

7720334805. 1
7720334806. 2
7720334807. 3

7720334808. 4
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1. primary kinetic isotope effect

2. secondary kinetic isotope effect with ky > kp
3. secondary kinetic isotope effect with kp > ky
4. no kinetic isotope effect, ky = kp

7720334809. 1
7720334810. 2
7720334811. 3

7720334812. 4

UF ol T8 i # S R W OIS U (KT D) A, R Uem @ 3R T S
W®|E

\ — N NH
A

1. UTYfHe Tidd SIS THIE

. Tedia® o GHRIE UHE ky, » kp @ 91
3. Tl Tide TeR+e THE kp > ki

4, Bl Ta® GRS TYE ol ky = kp

7720334809. 1
7720334810. 2

7720334811. 3 www.FirstRanker.com
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The correct order of reactivity of the following olefins towards ozone is

A% :DMH R Mo I L8]
o 3 / Voa: RN | )
A B c D

1.A>C>B>D
2ZA>B>D>C
3B-=C>=A>D
4C>=A>=D>B

7720334813. 1
7720334814. 2
7720334815. 3
7720334816. 4

SIS & Ui Sifisparsiica & oy e sifafte-T &1 98l 54 8
= X L
A B & D

1.A>C>B>D
ZA=B>D>C
3B>C>A>D
4 C=-=A=D=B

7720334813. 1

7720334814. 2 www.FirstRanker.com
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The major product formed in the following reaction sequence is

1. Cy;BH
n-Bu———=~Br i -
2. CD,CO,D, heat

({Cy.BH = dicyclohexylborane)

n-Bu Br

7720334817. 1
7720334818. 2
7720334819. 3

7720334820. 4

www.FirstRanker.com
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1. Cy,BH
2. CD5C0O,D, heat

n-Bu————~Br

(Cy,BH = dicyclohexylborane)

Bu Br

3
1

7720334817. 1
7720334818. 2
7720334819. 3
7720334820. 4

www.FirstRanker.com
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i. Ma, lig. NH5

n‘ :
ii. BrCH;CHoCH=CH,
o iil, Hy0"

7720334821. 1
7720334822. 2
7720334823. 3

7720334824. 4

www.FirstRanker.com
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i. Na, lig. NH5

s

O

CO.H Il. BrCF_!?CHQ{S;H=CH2
. iii. H;O

o

COzH

¥

CO,H

i

CO3H

3

CO5H

7720334821. 1
7720334822. 2
7720334823. 3

7720334824. 4

www.FirstRanker.com
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B RUPE S Ve dsRiadiene dimer. A representative energy profile diagram of the
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conditions is

Enargy {

) B
: aQ
Reaction Co-ondinate

1. P is the major product as it is more stable.
2. Q is the major product as it is more stable.
3. P is the major product as it is formed faster.
4. Q is the major product as it is formed faster.

7720334825. 1
7720334826. 2
7720334827. 3
7720334828. 4

www.FirstRanker.com
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uiay g 8 o & Re 9gt du 8

Energy

19

7 Q

Reaction Co-ordinate

1. P 9 3TG & i 78 s AR 3

2. Q T IWIG & Hlih 3HPI faea i ¢
3. P I 3G ¢ iich T8 gd §ill §

4, Q Y 3G ¢ Fith 78 s R §

7720334825. 1
7720334826. 2
7720334827. 3

7720334828. 4

www.FirstRanker.com
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in Column Il for the following substrate is

OTHP
(“‘T)‘vﬂmes
Bz0”
Column| Column Il
A. TBAF, THF . THP

B. AcOH, H;0, THF|lI. Bz
C. LiOH, H;0, THF |l TBS

Choose the correct answer from the options given below:

LA-N,B-1LC-I
2A-1ILB-1,C-1
3A-ILB-1ILC-1
4A-LE-NLC-1

7720334829. 1
7720334830. 2
7720334831. 3
7720334832. 4

www.FirstRanker.com
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[ ]
A PR S
4 fgu @ ol MM &

OTHP
OTBS

BzO

Hraq | Cacial
A.  [TBAF, THF . [THP
B. |AcOH, H,0, THF . Bz
C.  |LOH, H,0, THF n. [TBS

T.A-NI,B-1,C-1
2ZA-NLB-1,C-1
3.A-ILB-1IL,C-1
4A-1,B-1,C-1

7720334829. 1
7720334830. 2
7720334831. 3

7720334832. 4

r% E!H.’% E*ﬂg%?ﬁmﬁaﬂﬁi it & Fiad i

www.FirstRanker.com
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EtSH (2 equiv)
D-glucose -
conc. HCI
HO
HO
1 0. _SEt
" HO
OH
R
HEEXQ,
HO- SEt
OH
HO—
EtS——SEt
HO——H
3 H—t-oH
H——0H
—0OH
EtS._.SEt
H—}—0OH
4, HO——H
H OH
H——OH
—H

7720334833. 1
7720334834. 2
7720334835. 3

7720334836. 4

www.FirstRanker.com
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EtSH (2 equiv)

D-glucose
conc. HCI
HO
HO
1 O SEt
"~ HO
OH
OH
2. HO O
Hgﬁwsa
OH
HO—
EtS——SEt
3 HO——H
" H——OH
H——OH
—QOH
ElS.. . SEL
H——OH
4. HO—H
H——CH
H——OCH
—0OH

7720334833. 1
7720334834. 2
7720334835. 3

7720334836. 4

www.FirstRanker.com
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List |

List 1l

functional groups

frequencies

respective approximate symmetric and asymmetric stretching

A. N-H bonds of R-NH3

. 1790 and 1810

B. N-O bonds of R-NQ»

II. 3300 and 3400

C. C=0 bonds of
anhydride

1. 1350 and 1550

Choose the correct answer from the options given below:

{ofs
2.A-
3.A-
4.A-

ILB-1,C-1
i, B-1,C-1l
i, B-1,C-1
IL,B-1l,C-1

7720334837. 1

7720334838. 2

7720334839. 3

7720334840. 4

I | & HTIEDHE JU B D1 diad 1| H € g5 Yeidd Gamid 991 SHHd WH gl

& TTHT AF 1 98l B @

Hiad | HIAH Il (cm™)
A.  [R-NH>®TN-H 36 . [1790 3T 1810
B. [R-NOY®IN-O &Y . [3300 99T 3400
C. [FERESRES & c=0 AMEy M. [1350 94T 1550
LA-IL,B-1C-1
2A-N.B-1,C-1l
3.A-N,B-1,C-1
AA-ILB-NC-1

www.FirstRanker.com
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7720334837. 1
7720334838. 2
7720334839. 3
7720334840. 4

The major product formed in the following reaction sequence is

0 1. Ac;0, ZnCl,, 0 °C

il 2. HNO3, H,S0,

7720334841. 1
7720334842. 2
7720334843. 3

7720334844. 4

www.FirstRanker.com
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1. Ac,0, ZnCl,, 0 °C
[\ 2 a -
e} 2. HNO3, H,SO,4

www.FirstRanker.com

NO,
i @\,(
@)

e
0

7720334841. 1

0
A
"O,N" 0

O
O
%
[\

O,N" O

O
, OaN
O

7720334842. 2
7720334843. 3

7720334844. 4

www.FirstRanker.com
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1. -BuOOH
{-}-diethyl-D-tarirate
{-PrO)LTI, -20 °C
2. aq. NaOH,
PhEH, 65 "C

4. B"GW’I\("“‘DH
SPh

7720334845. 1
7720334846. 2
7720334847.3

7720334848. 4

www.FirstRanker.com
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1. +-BuOQOH
(-)-diethyl-D-tartrate
(i-Pr0),Ti, -20 °C

L

EnD—\_/—DH

2. aqg. NaOH,
PhSH, 65 °C

OH
1. BHOWSF’I‘]

7720334845. 1
7720334846. 2
7720334847. 3
7720334848. 4

www.FirstRanker.com
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1 LIA|D4

PR Ph 2. Ac0
then =350 °C

Ph
L Pn\jyl\n
D

2. ph A

. F’h\rf\m

Ph
Ph
4. "u..\_;'-‘f"ﬁ""Ph

7720334849. 1
7720334850. 2
7720334851. 3

7720334852. 4

FfeRad arfifiar o9  fadfad 9= 3UiE §

0 1. LIAID,
PR Ph 2. Ac,0
then =350 °C
Ph
ph. 5
D

7
4
=

L

Ph \f,\D
h

Ph ﬁph

e

7720334849. 1 www.FirstRanker.com
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7720334851. 3
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7720334852. 4

The major product formed in the following reaction sequence is

_CHy g N=CH; |¥
F )

- .J::'H'-.::'-'-ﬁWoms 2 '::H:I. then NalH

CH3

P
CL,
CHy

7720334853. 1
7720334854. 2
7720334855. 3

7720334856. 4

www.FirstRanker.com
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CH

\
1. N=CH, ©

[ j ] /@
c—
OTMS 2. CHjsl, then NaOH

CHy

0

B4

7720334853. 1
7720334854. 2
7720334855. 3

7720334856. 4

CHs4

www.FirstRanker.com

www.FirstRanker.com
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)= N. .0

Q
) —0 D‘T:_':

A~

O
/
N

1. %’ xg-"’
\[x

P 0
2 5 f
="K

7720334857. 1
7720334858. 2
7720334859. 3

7720334860. 4

CpaTiMe,

70°C

%{%gﬁc 1E?cﬁgwlr!g reaction is

=I : f#ﬁ%fk

www.FirstRanker.com
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o

AN
NYD CﬂgTiMEg
o) 70 °C
0K

k-9
i

7720334857. 1
7720334858. 2
7720334859. 3

7720334860. 4

www.FirstRanker.com



Il » FirstRanker.com

R Firstranker'tthoice

The equivalent symmetry operations fc:rj'g and 533 are, respectively,

1. .{',‘;-' and Cs
2.C¢ and i
3,E§ andgh

4.C¢ and E

7720334861. 1
7720334862. 2
7720334863. 3

7720334864. 4

S TY1 §3 & el HHMATI HdIeH 80,

P
1.C2 T ¢,

2.CA AU
3.C2 @ g,
4.CHTUE

7720334861. 1
7720334862. 2
7720334863. 3

7720334864. 4

www.FirstRanker.com
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A Firstrankdy'sehpide

www.FirstRanker.com

www.FirstRanker.com

The characters of a reducible representation [, under the C3,, point group are presented at

the end of the character table below. The correct coefficients of the irreducible representations

A' and A" inthe I'R are

C:ﬂi E 2C3 ay, 253
4 | 1 | |
P E 1 2 1
| 1 1 :
L 1 2 :
L, |21 ] o 7 2

1.3, 3

2.4 3

334

4.4,4

7720334865. 1
7720334866. 2
7720334867. 3
7720334868. 4

www.FirstRanker.com
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T EI T, & RS- Feum A’ aut 4" & fog O 7unies §

.| E |76 a, | 25,
Al 1 |1 1 1
E'| 2 |-1 2 -1
A" 1 |1 1 | =
E"| 2 |1 E 1
I, | 21]0 7 2

1.3, 3

2.4,3

334

4.4,4

7720334865. 1
7720334866. 2
7720334867. 3
7720334868. 4

Entropy associated with a die with all its six faces having equal probability of

being on top is

(kg : Boltzmann constant).
1. exp(—kp/6)

2. exp(—6kp)

3.6lnkg
4 kglne

7720334869. 1

7720334870. 2

7720334871. 3 www.FirstRanker.com
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3w, forge i &: Bad| & 21U UR T84 & UWiilidd 99 &, ¥ 4gad U=l &
(k: SiecgHH Fudio):

1. exp(—k/6)
2 exp(—6ks)

3.6Inks
4 kyIn6

7720334869. 1
7720334870. 2
7720334871. 3

7720334872. 4

A compound consists of atoms A and B. Atoms of B form cubic close packing lattice and
atoms of A occupy half of octahedral voids and half of tetrahedral voids. What is the molecular
formula of the compound?

1. AB

2. AsBs
3. AoBy
4. A-B

7720334873. 1

7720334874. 2

7720334875. 3
www.FirstRanker.com
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Ud Qi & TR A 9T B &, B & WENY] 941G fAfds UpaH o &d &1 A & W] 37t
ehan iy Riddd &l R a1 aqunasi Ridas ol 11d g1 9ifE & AU &1 52

1. AB
2. A3B,
3. AjB3
4 A,B

7720334873. 1
7720334874. 2
7720334875. 3
7720334876. 4

The system with the largest internal pressure is

1. a droplet of pure water with 0.1 mm radius

2. a droplet of 0.1M aqueous soap solution with radius of 0.1 mm radius
3. a droplet of 0.1M aqueous NaCl solution with a radius of 0.1 mm radius
4. a 0.1M bulk agueous sugar solution

7720334877. 1
7720334878. 2
7720334879. 3

7720334880. 4
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SHEHdH 3fiaR® ge @ RFHE &

1. s ofd DI 0.1 mm 01 &I BIdl dg

2. 0.1M I & SIciid faegd &1 0.1 mm 01 @ SI¢1 98
3. 0.1M NaCl & Sieiig faed @1 0.1 mm B0 &1 Bidl 48
4. 0.1M I 1 faigd <ol faaa=

7720334877. 1
7720334878. 2
7720334879. 3

7720334880. 4

The approximate length (in um) of the extended chain (contour length) of polypropylene of
molar mass 420 kg mol is close to:

1.1.5
2.3

3.45
405

7720334881. 1
7720334882. 2
7720334883. 3

7720334884. 4
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1. 1.5
2.3

3.4.5
4.05

7720334881. 1
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2+

The equilibrium constant for the formation of the complex Zn(NH5),“™ at 25°C s close to:

. 0 e 0 i
[Given: Ezps27, = —0.763V and B, vy 22z g, = —103V ]
1.2 x 108
2.55 = 1010
3.1 % 10°
4,66 x 107

7720334885. 1
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(& EQ 425, = —0.763V TN E5 (o0 32,70 v = —1.03V)
1.2 x 108
2.55 x 1010
3.1 x 10°
4,66 x 107

7720334885. 1
7720334886. 2
7720334887. 3

7720334888. 4

. k .
Consider ,q..—k;- B the action

If @, x and x, are the initial concentration of A, concentration of B at time t and equilibrium
: . 7 dx .
concentration of B, respectively for the above reaction, then the d—; is:
k

17
e s [ L
122 +)

2 ky (xp — x)

k
3. xLu(xe S X)

kX,

4 (Ie u xj
i
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SWIG M UfHTT & AU TG g, x TU x. FHL: A PIURYS Figd B DI TG + T

Wﬁwaﬁﬂmmm%ﬁ% 3

kia
.—{x;+x)
xE
2 kl(xe il JC)
k
3.f(xe — x)
KX
4 —2 (x, — x)
a
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Thermal decomposition of acetaldehyde follows a chain reaction mechanism in which methane
gas is produced in the chain propagation step. The rate of methane formation is proportional

to:

1. [CH3CHOJ2
2. [CH3CHO] V2
3. [CH3CHOJY2
4. [CH:CHOJ?

7720334893. 1

7720334894, 7
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1. [CH3CHOJ*2

2. [CH3CHO] 2
3. [CHiCHOPY?
4, [CH3CHOJ?

7720334893. 1
7720334894.
7720334895.

A WN

7720334896.

The data obtained from an enzyme catalyzed reaction are plotted as 1/rate against 1//S]g,
where [§]p is the initial substrate concentration. The slope and y-intercept obtained from this
plot are 50 and 100, respectively. If the enzyme concentration used in this reaction is 0.5 mM,
then the turnover number (in mM™7) of the enzyme is:

1.0.02
2.0.04
3.0.08
4.0.06

7720334897. 1

o}

77263348982
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USTEH ISR SHfiHal & ot Wi fidel @l 1/ R fa®s 1//5], WIS fdbdl 11 81 /5], 9a¥ce
P! AR Fisdl 31 59 @Ie Y UTa Y aul y-3fd: S I 50 31100 51 IS &4 &1 39
SHTTebaT § IUGRT &1 T4 il 0.5 mM, T, O TAH @I S-aflal T= (mM 1 H) 3 -

1.0.02
2. 0,04
3.0.08
4.0.06

7720334897. 1
7720334898. 2
7720334899. 3

7720334900. 4

Two angular momenta with quantum numbers j; = 3/2 and j> = 5/2 are added. The possible
values of J for the resultant angular momentum states are

1.4,3 21
24,1
34,3210
424 £1

7720334901. 1

7720334902. 2

7720334903. 3
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1.4,3,2 1
2.4,
34,3210
414 11

7720334901. 1
7720334902. 2
7720334903. 3

7720334904. 4

Radiation from a helium ion He™ is nearly equal in wavelength to the H, line (the first line of
the Balmer series). The states (values of n) between which the transition in the helium ion
occur are

1.6, 2
2.3, 1
3.3,2
46,4

7720334905. 1
7720334906. 2

7720334907. 3
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1.6,2
2.3,
332
464
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7720334908. 4

Lamb dip spectroscopy can reduce

1. Natural line width

2. Doppler line width

3. Collision induced line width
4. Saturation line width

7720334909. 1
7720334910. 2
7720334911. 3

7720334912. 4
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7720334912. 4

The molecule that can absorb in the infra-red among the following is

1. BN,
2 13N16D
3. 190,
4. 3NN

7720334913. 1
7720334914. 2
7720334915. 3

7720334916. 4
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1. BN,
2 13160
3. 180,
4. 3NN

7720334913. 1
7720334914. 2
7720334915. 3
7720334916. 4

The first two lines in the R- branch of the vibrational spectrum of HCl appear at
2906 and 2926 cm! respectively.

The first line in the R- branch of DCl appears at 2102 cm™’ .

The second line (in cm™' ) is expected to appear close to

1. 2112
22122
3. 2152
4. 2192

7720334917. 1
7720334918. 2
7720334919. 3

7720334920. 4
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1.2112
2. 2122
3. 2152
42192

7720334917. 1
7720334918. 2
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7720334921. 1
7720334922. 2
7720334923. 3
7720334924. 4

The depression in the freezing point of four solutions containing one g/L of the solutes A, B,
C Dare 2 4, 3, and 1 °C respectively. The solute with the largest molecular weight is

1A
2.B
3.C
4D

7720334925. 1
7720334926. 2
7720334927. 3

7720334928. 4
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The equilibrium constant of a chemical reaction decreases monotonically with increasing

temperature. From this we may conclude that

1.AH® < 0
2.AG° <0
3.A5° <0
4 AU° <0

7720334929. 1
7720334930. 2
7720334931. 3
7720334932. 4
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1.AH% < 0
2. MG < 0
3.A5° <0
4. AU° <0

7720334929. 1
7720334930. 2
7720334931. 3

7720334932. 4

The molecule that is better described by single determinantal MO theory rather than the
elementary single resonance structure VB theory is

1. LiH
2.F
3. H,
4.0,

7720334933. 1
7720334934. 2
7720334935. 3
7720334936. 4

www.FirstRanker.com



. L]
:I [ﬁ%rﬂﬁ]%g%ﬁ{#&g%ﬂﬁ e et feefiHea mo gl @

mmwgfﬁ;g www.FirstRanker.com www.FirstRanker.com

1. LiH
2.k
3. Hp
4.0y

7720334933. 1
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7720334936. 4

An electron in a hydrogen atom is exposed to a perturbation V = VyrCos (. The first order
correction to the ground-state energy of the electron is

1.- Vg2
2.0

3. V2
4.V,

7720334937. 1
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1. - Vig/2
2.0

3. Vig/2
4. Vp
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